PUZZLES ~ BRAINS

10 BY 10 HITORI (NO. 14)

SHADE (OR BLACK OUT) CELLS SO THAT THERE ARE NO DUPLICATE NUMBERS IN EACH
ROW AND COLUMN. SHADED (ELIMINATED) CELLS MAY NOT BE HORIZONTALLY AND
VERTICALLY ADJACENT. THE REMAINING WHITE CELLS MUST FORM A SINGLE
COMPONENT AND NOT BE ISOLATED.

315(4(9(10(4[91(10|2]8
81715183 [9|10]14]10]2
418 (3(12|8]10|3 911
912181149 ]61(10{10]|9
711191918 9181|7110
8|7 (1 (10714 |5]|2]|6]|38
411019138107 |114]|6
1 |8 (10827 [8]|2]|5]10
9 3141110121017 |5
8141621926386

1010 NO. 14

copyright:  www.puzzlesandbrains.com



ANSWERS
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